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HIT - I/PART ~ |

91 [aere ST /CHILD DEVELOPMENT AND PEDAGOGY

s o el geal & G 37 % T geg

afer faeeq gihaw

1. farerr X 1Y UYE @ wedr g, g
(1) B & @9 FE F9 $ GEAT 4
MY @A oAy
(2) B1F F4H, 1999 g R ug
EBiEnEE
(3) 191G e & ARAT FIT H Fay
S GEAlEEIC |
(4) [9r8/p P & FRIE &Y
2. [9reoy g9t B S 2, g
(1) Fem-Fef H JeA8 TR &l 94T 3
AT ST
(2) ®E-we] § fooe FElm i @
JUIT [T 9T
(3) 3T fers PRl Rbt v gy
e B9 | {1 A
(4) B B2 FRIAT AR STIFRAEE
el 1 IR fBRar S
3. UF 399 F-FeT (978
(1) BE1 # Ueplds BRI #1 9
(2) BB @ IERE HaE # o
RIS G
(3) BE P argd g TRREE o
AT Hid ~
(4) IUUFT 9t
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Directions : Answer the following questions

by selecting the most appropriate option :

1. Teaching becomes much more

eftective provided

(1) Students are given autonomy and
control to work on their own

(2} Students learning 1s directed and
controlled by the teacher

(3) Teacher plays a central role in

explaining the facts

(4) Teacher directs learning

2. Teaching hecomes effective provided
(1) Direct instruction is used in the
clagsroom
(2) Teacher directed metheds arc

used 1n the classroom

(3) Both teacher directed methods

and direct instruction are used

(4) Learner centered instruction and

interactive methods are used

3. A good classroom teacher
(1) Nurtures learner's nafural
curiosity
(2) Encourages learncrs to engage in
dialogue

(3} Involves learners In real world
situations

(4) All of the above

P.T. O
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GoTAIcHReT =l [Rar e 2

(1) SHRTeRd
(2) ARSI
CIRSEIKING
(4) IqURT T

qE: 8ET § Yed-ued & R e

1

BRGNP
(1) 91 & Brarsfierdn
(2) o= ° drge 3 Orgdr

(3) @ Bpl & F99 Al BN 5
PI AT AT

(4) IIUFT 94l

U 7w T & GRg- arel a1 B e

AR

(1) SIAET dermar <
(2) 919 gerEar
(3) 54l wEEEr #t 98l
(4) %8 WErIal

SIEE - EE B B s C I
I 3T 8, O Y

(D). 3a0 o891 B e et g
TEHH & [ IUX TEd o4

(2) 39 TFIEN 5 I SEX T
i gr .

(3) Thdl =Y [Eel # 39X 39 & R
5

(4) G2 I Farq

(4)

Characteristic of creativity is
(1) Originality |
(2) Fluency

(3) Flexability

(4) All of the above

Students have following characteristics
for learning and teaching

(1} Activeness in learning
(2) Students have abilities to learn

(3} Students knowledge

through self activity in relation to

construct

new experiences

(4) All of the above

A slow learner needs

(1) extra help
(2) special help
(3) no help

(4) some help

If' a student gives wrong answer to a

question put'ﬁp by you. You will

(1) put up another gquestion so that
he himself realises that his

answer was wrong

(2) tell him why his answer was

wrong

(3) ask some other student to

answer

(4} tell the correct answer'
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Rreor w T 9HR O Uiy e
FiaT @

(1) AR & TR

(0) RiEd B S H R
o &R 59 &l U8 FHLA

(3) WEAYESD H T

(4) foemel g0 M @ WERRW

Rl ¥ 8 @re-ar w1 e & 2 7

(1) WEaH
IR R PIREE?
(3) &I

(4) TRl

Braepl @ Frefaiag Reer RBa @
g ® AT e

(1) T Ferfer

(2) . fFareTs At

(3) FORES

kg

(4) IUET ° ° Fig

ety & R W a9 qoEel @
- gaiie Sugiier 98 & 1%

(1) =Y S9H §H g8t &

(2) IR PIAT qG 2
(3) I8 oreqfasard # afgle Bkl @

(4) A gEErd ¥ G 99 S §
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8.

10.

11.

Teaching is defined as
(1)

Facilitation of lecarning

(2) Transmission of knowledge by
teachers and its reception by the

students
(3) Reéding the textbooks

(4)

Transmission of knowledge by

teachers

Which one of the following is a level of
teaching ?

(1) Reflective
(2) Interactive
(3) Projective

(4) Summative

Teachers need to the

practise

following teaching methods |

(1) Lecture method

(2) Interactive methods

(3) Narratives

(4) None of the above

Counselling to students is most useful
for
(1)
(2)
(3)

Enhancing their knowledge
Developing their skills .
self

Developing confidence in

them
(4)

Making them worldly successful

P.T. O,
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12. 92U 9T g8 & foran
(1) U [Fenedl us &2 "5y 4w
IR heTT I HY TFHaT B

(2) TF TS F UH & 999 § 0F 4

-,

At Femsli F T # gET

TEA B
(3) FHEN G F P F 75 2

(4) I9gad a4l

13. fawernl &l gfaer &
(1) STH & HY9Y HT=
(2) BET & SFgImET § T

?\q.

(3) ©WiEdisd, R onaiia s e

A HT G FHL

= -

(4) JUUFT d999]

14, GST-9re ¥ Q@R & I =i
(1) ST % HIfgs =Erae
(2) iy wgka #r dicares
(3) FE-FE ¥ UCYYRTE ZT 58Tor

™\ e

(4) T9gEd ® ¥ FE GE

15. U UaWianel a0 T gew
T &
(1) 30 T i e 3T
(2) 38 AP qEid 97
(37 39 %% guy Ty
(4) TH dFET T 3T I
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12.- Multigrade teaching is that where in

13.

14.

15.

(1) A student can pass more than ong

class at a time

(2) A teacher has to teach the
students of more than one class at

the same time

(3) There is no point in clagswisc

teaching

(4) All of the above

- The role of the teacher is

(1) communicating knowledge

(2) maintaining discipline among
students |

(3) creating a learner centered,
activity  based, interactive

learning

(4) All of the above

Teachers should do while teaching

(1) Transmit knowledge verbally

(2) Encourage inquiry

(3) Teach through textbook in the

classroom

(4) None of the above

You can help a talented child by

(1) Payving more attention to him
(2) Giving him more books
(3) Spending more time on him

(4) Giving enriched learning

experiences

Newjobsinfo.in


Ashu
Typewriter
Newjobsinfo.in

Ashu
Typewriter
Newjobsinfo.in


16.

17.

18.

19.

fio ofF A & oFHR 0-14 99 g
T F AdE H AEEE LEEg d9R
aERenel e g1 3@d 7-14 99
Fg-at & e @l TR B AT e

g7

(1) HAgAHE i e e
(2) G HEE AT

(3) Td AP T

(4) Aq=IEE BT SR

oF STNE & W H ey S fqenfal 9

R UHK [MET o) wer & fuser dHidd

3T ofuy § 9 &Y @ & 7

(1) ITEH IUeT Hih

TN N

(2) 3% TG (@1 B (AT FEN AT B
d At I @ wE

(3) T FT W B FHE a9
(4) TR @ B ¥ e w2 e

O SR & A B AT H AU
Ffe & 3

(1) wend fafey

(2) WEATeRI oy

(3) "G [

(4) TESTH [T

g | T T

(1) BEI ® SiEs % [ da] #El 2
(2) AR & [T JaT Hal o |
(3) ey ool & R qa a8
(4) TlEn F o gER w8
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16.

17.

18.

19.

A

According to Prof. Jean Piaget the
mental development of 0-14 years age
Croup occurs in four stages. Name the
stage of development for 7-14 years
4ge group

(1) Sensorl motor stage

(2} Pre operational stage

(3) Concrete operational stage

(4)

Formal operational stage

As a teacher, how would you deal with
those the

backseats and talking to each other ?

students  sitting 1n

(1) By ignoring them

(2) Ask them to keep quiet or leave

the class
(3) Get them out from the class

(4) Ask

paying attention

them why Llhey arce not

Most objective method for measuring
persdnality of a child 1s

(1) Projective method

(2) Interview method

(3) Questionnaire method

(4) Sociometry method

Education system in India is

(1) Preparing students for life

(2) Preparing tfor employment

(3) Preparing {or vocational courses
(4) Preparing for examination

P.T. O.
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20. FHEl H TH YRR QActh 9 S Al 20. In a class a naughty child disturbs the
WA B 2 TP HAATE & IHD studf;nfs. Which method should a
R H HROT A :'f.;g_} CaNCIRECa teacher adopt to know the problem of
JENT AT =rfaa ? the child ?
(1) Haerey faidy | o (1) Survey method
(2) JafFaes areqgs fafy | (2} Case study method
(3) yrgIfeg faiyy (3) Experimental method
(4) Ydagor fafey (4) Observation method
21. WigSH AR w9 g9E B | 21. Oral gaidance 1s less effective in
(1) 994l & f91e91 | (1) Teaching concepts
(2) BT & foreror H (2) Teaching skills
(3) & &[98 | (3} Teaching facts
(4) JqUEd H Eﬁ% SEEE (4) None of the above
29, Uh HATHS &9 o ngﬁd S 22. An emotionally s{;able student
(1) HH-Hy o 394 H%CIIIE I | W (1) maintains cordial interrelation-
g &l § ship with classmates

(2) - H 94 HewWlsd & g4 (2) does not interact effectively with
TR el & | other classmates

(3) I8 N e o HE dEE T8 (3) does not contribute any new
aar 1deas

(4) geuiiedl zra R W FErd @ (4) does not respect the ideas given
TS Fel . by other classmates

23. 197876 I e 2 | 23. 'The role of a teacher is
(1) ST B MG S | (1) Transferring information
(2) S &) | (2) Providing knowledge
(3) HIAT AT Fo F aforfde s (3) Giving training in skills
(4) S TRIOT 1 ERAHT e ~ (4) Facilitating ~ of  knowledge

construction

Cat.-2/22
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24, ST T S TN Biwd B qad & 24. You can gain attension of your class
| through
(1) =g @ § Falhy (1) Speaking loudly
(2) 9AHIE X ToREgeT (2) Writing on Black Board
(3) == E-TDY (3) Drawing diagrams
(4) IENE 9REET B (4) Stimulus Variation
25. Gﬂ?‘l‘;_('fm O GRS FIEl & [ B ‘25, For adaptive and positive behavior a
A e Sl B STasTd 8 student needs following life skills
(1) g4l STarFas a9y (1) Effective interpersonal communi-
cation
(2) g o &l aeaan (2) Decision making abiiity
(3) HETR AT a9E & aY GEey (3) Coping with emotions and stress
(4) IEd 9l (4) All of the above
26. gl up Endl @i usH q8dl g Forae 28. If a student asks a question of which
JOT OT9% UG SRl &1 89l S ~ you don't have answer. What will you
Y do ? You will |
(1) ©F W Fad [ IR 0L ;igDIChI g (1) tell the student that his question
1s senseless
(2) <O I J4rd O I (2) try to avoid
(3) U Hl i @?f AR oF o 39 (3) explore. the answer of the
ERIOH| question and convey him next day
(4) BE F IEEEE YT GS & [T (4) rebuke the student for asking
EEEiEl unnecessary questions
7. Uh fero=shial IQeh HET-Fe g o 2. A reflective teacher creates classroom
qRiRafy I~ #Ear & & o situations for
(1) HHE (Y T (1) Lastening the lecture
(2) Fer-Ha § RIwE & MU & A o (2) Taking notes from the lecture of
b | the teacher
(3) PAT-HH H GRUIRE Y TE (3) Maintaining classroom discipline
(4) B AT [Oes § IRl SR (4) Promoting interaction between
GRS RSIES e . students and the teacher

Cat.—-2/22 | P. T. O,
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28, (9787 & -3>-ri-‘:?ii e d[[u 28. The aim of education should be
(1) [eemieal o [T % HIAA B (1) To develop vocational skills in the
e Al - students
(2) mlﬂﬂ!ﬁﬁ_ ¥ WIS T # EEAs! (2} To develop social awareness in
FA s the students
(3) fg=mieral @ ey % v duR (3} To prepare the students for
] examination
(4) [EMEE] & aEEiig Wae iy (4) To prepare the students f(or
AT I practical life
29. UF B FH AEEIT =9 F ol U 29. It 1s necessary for a teacher to know

o

IS B SEAT SAEYTE 2

= e
K
-

to guide a student

(1) 3TERTH 3 FEHE ) (1} His learning difficulty
(2) IqF Al ) (2) His personality 1.

(3) TS g H FEE ﬁi (3} Environment of hi%“htjme
(4) IS AN (4) All of the above

EBIREE: 30. Which of the following is the nature of
ceducational psychology 7

30. TTad o d &9 e =54
s 5

(1) et (1) Art

(2) TI5I (2) Science

(3) s A5 (3) Positive Science
(4) IIT ET 8 Eﬁ_"; HE;T (4) None of the above

- ——
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AT - II/PART - 11
a7 - 1 (*=)/LANGUAGE - I (HINDD)

A : FrfET T % 9Ewt 27 o
. ! - 392, ‘e’ Al I B
7 gedt (757 Ho 81-35) # IV T
T g gaET &Y (1) IO MR F (2) mEH H -
A md oWl @i, anrn ST ) Torag 3 ” .
et § el w@ie ¥ R ¥ R ) T
St 8 oear & g ¥ m, ,: 3, -
. . -’ 83, ‘o fd B @ anay @
A T & S B NI § T 59 [T
AT 9 STERd el elaT| @R Sy (1) TUT LA
R orred 9T A M S E (2) el § e 3T

uF §YY O S e 9| @
AER TR 8 gUY Ol o7 3l B

(3) STEAET

a6 B gSt QUM W W U U 3EX (4) FHEe ST
QYT S @ ST ST @RH & K |
ol 2 aftd O &1 & 855 H ol 34. S H G 2
giees g B oW @ F faide (1) T (2) T i
e & We-aied R d@EIA B (3) e G| (4) wgEd G
g W FHEC g ¥ SN 39 YOR b
I HIE I T THA Al A T e 35. ‘TOA’ FEl H AP GG & 7
g Sl 3 & Wal 9% |
et § B g9en Hey e H ST # (1) T[T (2) TAYL TN
R o, wedl, IeHEr, gEd SR
Rrofiqy, s @Y I WA H 'gﬁﬁ (3) TR (4) S
AT R & e el d LN T 8
qaw AR Gl Fhd % | %l 86. ‘g T @fyr €
SR-en, dEdl-Teae gadt ol gerEl D T+ 9 7 b T
¥ oy Se-ure orfe % e uereRrHl o R -
g2 e F T AN 2 (3) T+ F + H (4) I +
31. e H A WA T ' 37. [ Q@ F39-w o T § e
&l @ & 7

(1) FE FHl TIHHEE
(2) T STEEE
(3) Y THIRR

(4) NEIE SR

(1) T, TR, =g, B

(2) =, N, AYATH], TESHAA
(3) &R, AWk, TR, G5

(4) HEWR, G, 9d, U
Cat.—2/22 P.T. O.
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8.

39.

403,

41.

42.

43.

44,

43.

A T A g B

(1) FAR (2) HHR

(8) oI (4) Eﬁw

M d 9 s e geEre

(1) W& (2) 7y
(8) o/ (4) TR

TS’ § gary 2

(1) B FYEY  (2) FHH TgHY
(3) sgdife (4) =¥z

TEAT B AT B 7

(1) 9%9% B (2) oads e

(3) W BB (4) SRomem B

-

ST wed FAT 2 gom Al dear
(1) YA (2) Tseantar

(3) ST (4) Yrqd
et d g gl 8

(1) & (2) @

(3} @ (4) =

‘BetRer @ diy B

(1) 8 + BT (2) T + Y

(3) BN + 39 (4) FT + 39
Ehrs § Uy B

(1) & (2) &

(3) 9 (4) 3%

Cat.-2/22
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46,

Sl quT T B TS O i |fe

A=Y H M g 1 g8l e adrd
(1) faeg, fasdyR, Raw, fsara

(2) Tasaed, fasa, faegww, favarg
(3) Tgsg9v, fasaa, fge9a, fasarg
(4) Regvq, B9, Qg ey

[Rsr o et Ters @ ygee 29
T GeT (997 do 47-51) F Fov @
31ET [T FAET G -

A @ H{EI%WG?WW

AT T oA, M SE H ogsd A
RIKIC I I o B N i e e
o @ e W d gqustd SRRl
AT @l aRror-am a9 dar 8
el AN "9S oToEd Ww B a9 |
96 &dl g% ol 36D 9@ W dREEe @
SRYTN N I '@ I T-ded W )
Wﬁ?ﬁﬂﬁﬁ@?ﬁﬂ*m d @ o
[T | 3R G Sl HC 3@, @A
AN & WY SH AR S *FET g,
a2 BT ae gAen ot el
H A ggarar oI Alsd o1, 3ge
HITT eEw] & R o gemar B A &
=R el ol ST @ehel

W oW Rem 9R ® qen
GHERINE T TE g — WG e ddl
qUBIE G, Br ¥ wEd Herh, ol )
Y- 9@, HaY Ty onfe 4 ge o
T 6 Iuga HE=el 89 @1 s 27
e |




(13) | A

47, TEIT TN B 55. ‘I U= & I wHE G
(1) U gEE (2) T HEY
(3) F RO (4) T HEE

(1) W, w, R, S

(2) TEl @ A, B, A, Hid

A8, R @ andE 8 L
(1) TIEgE (2) oA IR (3) M, fere, R, BT

(3) M JH  (4) T T Pl T

(4) T, BMI, 949, &Y

49. TUY TG BNl 8 56. T & Temy @ U um o B
(1) &1 T (2) HHl '

(3) WF IR A (4) T S

(1) e (2) gl
(3) TG (4) XA

50. §BH & a9y 3

(1 =@l (2) YR 57. fyefigg § § s ol 9= @’ |
(3) dran (4) FaIX qeft 787 8, 396 gy
(1) T 9) &

51, Frad Bearell § ggAwdl @ wied o ¢
(1) AT & (2) AT B (3) q& (4) STHA
(3) A A (4) Wi &

58. [r=1 o § T 9= ©

52. 9 P IEY - R F OE I € (1) 3T (@) S

(1) SaREd - M= (3) e (4) STIY

(2) M - 3

(3) I= - T 59. T § § I 9 gRUN SgaEE M OUYE]

| e & ?
(4) P - 3=
(1) BEIER (2) FHERGS

53. ‘T 9%] B WG @9H A ©

(1) g=8 (2) 9 (3) THrEam (4) RS

(3) "= (4) S5

60. ‘T o & HE AN e

54. ‘afteq’ § FE AEErEE Hell @ (1) I (2) T

(1) os CARMES RS (3) T (4) T

(3) ged (4) = FqHl

Cat.—-2/22 P. T. O.
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1T - III/PART - TII
TS - 11 (AT )/LANGUAGE — IT (ENGLISH)

61.

b2.

03.

64.

Choose the correct thoe

blank :

word for

You can park the car on
side of the road.

( 1) either

(2) none

(3) both

{4) neither

Choose the correct meaning of
‘A beverage'

(1)
(2)
(3)
(4)

something red
an alcoholic drink

any drink

soft drink

Choose onre word for the words

underlined ;

When her dog died she cried very
hard for half an hour.

(1) howl! (2) screamed
(3) sobbed (4) drowned
Kashmiris ... ... between India

& Pakistan.

(1) an apple of eye

(2) an apple of discord
(3) an apple of fight

(4) None of the above

Cat.-2/22

65.

~ashamed of doing house work,

The Solitary Reaper is a melancholy

song. Here, the word melancholy

means
(1) expressing joy

(2) expressing sadness
(3) expressing humour
(4) expressing anger

Directions : Read the passage given
below and answer the questions that

follow (Q. Nos. 66 to 75) by aelecimg
the most appropriate option :

A completely uneducated farmer's
work is far more important than that
of a professor. We can live without
education, but we die if we have no
tood. If no one cleaned our streets and
took the rubbish away from the
house, we should get terrible diseases
in our towns. In countries where there
are no servants, because every one is
the
professors have to waste much of
their time doing house work.

In fact when we say that all of us
must be educated, we mean that all of
us must be educated in such a way
that firstly, cach of us can do what
ever job is suited to his ability and
brain and sccondly that we can
realize that all jobs are necessary to
soctety and that it 18 very bad to be
ashamed of one's work or to scorn
Only such type of
education can be called valuable to
sociely.

some one ¢lse's.



66. If no one cleans our streets we should
(1) be unclean (2) be unhappy
(3) get diseases (4) get dirty
87. Only such type of education can be
called valuable. Such type of
education refers to
(1) that which enables us to do any
thing
(2) that which enables us to scorn
some one else's work
(3) that which develops dislike in us
(4) that which enables us to do any
work and not to hate any work
68. Which word in the passage 15 one
word for 'one who 1s a university
teacher' ?
(1) teacher (2) professor
(3) educationist (4) lecturer
69. A completely uneducated farmer's
work 1s more important than
(1) that of a businessman
(2) that of a professor
(3) that of an artist
(4) that of an advocate
70. Professors, in some countries waste
their time because
(1} they have to do house work
(2) they have to teach lower classes
(3} they have to help the students
(4) they have to wait for train
Cat.—-2/22

(15)

71.

72.

73.

74,

75.

" (3) scorn

A
Which word in the passage 1s the

ﬂppasife of 'lilkke" ?
(1) terrible (2) ashamed

(4) dislike

According to this passage what 1s very
bad ?

(1) to be ashamed of one's work

(2)

to scorn some one ¢lse's work
(3) both (1) and (2)

(4)

not to do work suted to our
ability

Which word 1n the passage means
'waste material' ?

(1) uneducated (2) ashamed

(3) rubbish

(4) none of thesc

We can Itve without

(1) food

(2) education

(3) playing (4) doing exercise

What should we realize ? We should

realize that

tl) each of us can do farming

(2) all jobs are necessary to socicty
(3) all of us cannot get edﬁcatican

(4} all of us should not do house work

P.T.O.



16,

e,

78,

79,

The word 'Oasis’ means
(1) a garden full of flowers
(2) a palace surrounded by trees

(3} a green patch in a desert

(4) a barren piece of land

The passtve form of 'He knows her' is
(1) She knows him

(2) She is known to him

(3) She has known to him

(4) She has been known to him

Choose the correct conjunction for

the blank :

He s witty .........c.o. 0. vulgar.

(1) that (2) because

(3) though (4) so

Choose the correctly punctuated

sentence

(1) What a day.
(2) What a day ?
(3) What, aday ?

(4) What a day !

Cat.-2/22
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80.

81.

82,

83.

The phrase - 'to look into' means
(1) to examine
(2) to search

(3} to exercise

(4) to take care of

"To imitate' someone means to
(1) copy someone

(2) tease someonc

(3) make someone angry

(4) please someone

Choose the correct preposition for

the blank :

I mix up the butter ................ I bake
the cake.

(1) before
(2) after

{3) to

(4) None of the above

Choose the correct indirect form of
Ravi said, "Guests have taken their

lunch."

(1) Ravi said that guests had taken

their lunch.

(2) Ravi said that guests have taken
" their lunch.
(3) Ravi said that guests had to take
their lunch.
Ravi said that guests are taking

their lunch.

(4)



a4,

35.

86.

87.

Choose the correct preposition for
the blank :

There is a bench ................ the lamp
post.

(1) through (2) over

(3) along (4) beside

Choose the correct arﬁcle for the

blank :

Please help me clean my

llllllllllllllllll

apartment.
(1) a (2} an
(3) the (4) Zero article

Choose the correct opposite word for

the underlined word :

Her nephew isn't ugly.

(1) beautiful (2) handsome

(3) large (4) heavy

Choose the plural of the word given
in bracket :

Scientists are always studying the

................ (phenomenon) of nature.
(1) phenomenocns

(2) phenomenones

(3) phenomena

(4) phenomenas

(17)

88.

89.

90.

(1)

Meaning of the word ‘prophecy’ is
(1) p.r:oﬁerb

(2) cﬂd_ é%ying

(3) prgdictién

(4) None of the above

Choose the most natural order of the

following words :

- what's that bag /? in small

(1) What's small in that bag ?
(2) Small whats in that bag ?
(3) What's in that small bag 7

(4) All of the above

Choose the correct temse of the

underlined verb phrase :

Kavita said that she had been waiting

for me for two hours when | arrived.
simple past

(2)

past perfect continuous

(3) past perfect

(4) present perfect continuous

Catp—EiZZ

P.T. O,
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777‘977@1%577_; _ :.
ol A w91 A& 150
T - IV (a) (T uE faem) 9 e
ETCIE '

Mathematics and Science :

- - T

!

| Candidates have to do questions
191 to 150 from Part - IV(a)|
(Mathematics and Science). |

Cat.-2/22




(19) A
T[fﬁ'l?f uqg EEIGEE Mathematics and Science :
giafigl & 9 91 § 150 99 - IV(a) | Candidates have to do questions 91 to 150
(Tﬁ'ﬁ g faﬂl;l) d 59 B B | from Part - IV(a) (Mathematics and
Science). |
Tl - IV{a)/PART - iV(a)
T Ug {5/ MATHEMATICS & SCIENCE
91. 9u Sid GUBY Hdd EES 91, The Dbasic theme fc_;r water
conscrvation is
(1) o 5787 PR a2 U (1) Collecting water where 1t falls
(2) A @ arel H TS H (2) Collecting water 1n dams
(3) S | AU HAgA Afedi d U (3) Collecting water in canals or
&Y streams
(4) dqgﬂm g9 Eﬁl’?(g el (4) None of the above
92. 3TYAE & 92. Detergent is
(1) 99 a7/ U Jdd 8§ & T4 (1) salt of strong acid and strong
base
(2) 3@34:'! ST U g9 &I & dJU (2} salt of weak acid and strong base
(3) YT S7<7 Ug 3*3?(4 &L &l g (3} salt of strong acid and weak base
(4) 3*’-*‘-?(31 3 T 3ﬁi¢| & sl ddY (4) salt of weak acid and weak base
93. o5 T ¥ 'Q:’:I?ﬁ §§ ﬂdr'Eﬁ[ [SEF 93. The colour of the {fast rotating
EEIFEGIR: S Newton's Disc, appears to be
(1) HEJH ST (1) like a rainbow
(2) A (2) orange .
(3) @Y 9T (3) almost white
(4) TER (4) colourless
94, ia‘ﬁlﬂ Sfa T B 94. Which group shows viral disease ?
(1) &7 3 aiferd (1) Cholera and Polio
(2) TRHES 3K JHM (2) Typhoid and Cold
(3) B Ty ST Qe (3} Chicken pox and Polio
(4) Tl R e (4) Polio and Tuberculosis
Cat.—-2/22 - B.T. O.




95.

96.

97.

8.

99.

Thdll &

(1) 195
(2) 109 20 f&A
(3) 20T 25

=

(4) 20H 30 =9

[a9gHIYl o el o MR 9 TR

qq) 5 TR & ¢

(1) 67 %1 fdo glo &
(2) H1{

(3) ARy

(4) IYURT |t

RHIYS WA H IUEE I B
-3]- .

fONR 2% dr W@ g% # Id o4
S 1 ufafes gt

AT O die
T Ug I
JATEN U g
JIEids Td Jeey

(1)
(2)
(3)
(4)

graeh 319 0T Wl ad &

(1) TH T W
(2) A 4 PRE W
(3) B2 § dled W
(4) I9gga gl

o S
2

Jias a1 Bl

(20)

95.

96.

97.

98,

99,

The incubation periods for typhoid

bacteria is

(1) 1-5 days
(2) 10-20 days
(3) 20-25 days
(4) 20-30 days

Which of the following gquantities can

be measured by potentiometer ?
(1) e.m.f. of cell

(2) current

(3) resistance

(4) All of the above

The image formed by a convex lens,
when the object is placed between [
and 2 [ 1s |

(1) Real and erect

(2) Virtual and inverted
(3) Virtual and erect
(4) Real and inverted

Magnets  lose  their  magnetic
properties, when

(1) Heated

(2) Dropped from a height

(3} Hammered

(4) All of the above take place

Brass 1s made up of
(1)
(2)
(3)
(4)

Zainc and copper
Zinc and tin
Copper and aluminium

Aluminium and tungsten



100.

101.

102.

103.

104.

105.

0F FOT hl WA oEd T H @

Bl 8

(1) B9e0 g

(2) BHIM R

(3) GHTH Haw ¥ Iy
(4) oXH FGEA ¥ AUPHaH

T qEF o Bl o
(1) g0 ¢
(2) W€ g

(3) Y YA

(4) g

JEHEEy ARG B fgEg ggel f
qiafig Y ad B
(1) Qe

(3) &%

(2) ESfa
(4) AT

afe UF TS U Y % YT
T W F Al 9 WErRG
T B, @ 9 Fed §

(1) LA
(2) Hrayl
(8) WMY=E
(4) JH FATA
e D ©

T

(1) St R (2) I <l

(3) HET B (4) STgRT F

afte (daamnd) § afaf 3
(1) TETT
(2) HATYEIT
(3) Y&

(4) IUFT Gl

Cat.—-2/22

(21)

100,

101.

1G2.

103.

104.

105.

A
The acceleration of a particle in
SHM is

(1) always zero

(2) always constant
(3) maximum at mean position

(4) maximum at amplitude

The food required for body growth 1s
(1) Fat contaiming

(2) Protein contaiming

(3) Carbohydrate containing

(4) Fibrous

Atmospheric Nitrogen converts inlo

soluble substances by

(1) Algae (2) Rhizobium

(3) Fungi (4) Lichen

If pollen grain is transterred from
anther to stigma of the same flower,

itis called
(1) Autogamy
(2) Geltonogamy

(3) Xenogamy

(4) Syngamy
"Hertz" 1s the unit of
(1) Force (2) Pressure

(3) Momentum (4) IFrequency

A taxonomy includes
(1) Classification
(2) Nomenclature
(3)
(4) All of the above

Identification

B.T. O.



106.

107.

108.

109.

110.

feq e H el qiEes B ©
(1) R St 9 e

(2) RIS Sl A g I

(8) fog &1 | s Fon

(4) IEENE S0 § Rrgg S

e sl @1 ST ¥
(1) STERATT 3 fE
(2) &4 & UM

(3) 999 §F & UM
(4) S § 9 g T

QAT HIFH FaEd (W) |
qE Sl 2 | FahEd B

“ARSIEEN B UE
(1) YIeY U~gH
(2) wi=g B

(3) =g U~IRH

(4) 9=Y EMHH

el Ul d e Rl W B &l
qfspar Bl &

(1) e

(2) fheeis

(8) SIEAfHTY

(4) FRRE TE]

Cat.-2/22

(22)

106.

107,

108.

109. -

110.

An electric cell transforms

(1) Potential Energy into Kinetic

KEnergy

(2) Potential Energy mnte Electrical
Energy

(3) Electrical Energy into Kinetlic
Energy

(4) Chemical Energy into Electrical

inergy

Example of striated muscle 1s
(1) Ahmentary canal musecle
(2) Cardiac muscle

(3) Reproductive tract muscle

(4) None of the above

Minute cells are found in mycoplasma.
Mycoplasma is |

(1) Virus

(2) Fungi

(3) Bacteria

(4) Green _algae |

"Cytokinmin" ié a

(1} Plant Enzyme
(2) Animal Hormone
(3) Animal Enzyme
(4) Plant Hormone

The phenomenon of obtaining pure
water from the sea water 1s

(1)
(2) Filteration
(3)

(4) Reverse Osmosis

Osmosis

Desaltation



111.

112.

113.

114.

115.

"
o

qi-is aTgHewE | Tel Bl @

(1) 760 mm Hg
(2) 1.03 Kg/em?
(3) 101.3 el TR
(4) 1.03 Kg/em?

g Y g onfde Yew 1 wuwl @
giftsa fepel @l faepiirT e o dear B 7
(1) FE<RT

(2) IENE

(3) HMEIASH =oT

(4) TR

et Al & o e & e ugE
AR

(1) UHIEe Y

(2) HET EB

(3) GithE TR

(4) a9 TThe

JETEE: YR Fd 8
(1) e

(2) TEERI G

(3) T X TS
(4) TUYFS A

YO L A W Sl d 9% I 2,

Fiieh

(1) = dgM W FaI9F qgdl 2

(2) TF B WX w9 gl o
(8) I FHHY 1 FARINR &7
GIEEACEIEGI

(4) Q9% db< F e A rERE w

LY

H B T2 Bl

-,

39

Cat.—2/22

(23)

i

111,

P12,

113.

e
pamcak
M

115,

(1)

A
The standard atmospheric pressure
can not be expressed as

(1) 760 mm Hg

(2) 1,03 Kglem?

(3) 101.3._}5&1(} Pascal
(41 1.03 Kg/em?

The desired varieties of economically
useful crops are raised by

(1) Vernahzation

(2) Mutation

(3) Natural selection

(4} Hybridization

The substance used for adsorbing
POLSONOUS £ases 18

(1)
(2)
(3)
(4)

Graphite fibre
Carbon black
Aclivated Charcoal

Sodium sulplate

'Migration' 1s commonly practiced by
Birds

(2) Mammals

(3)
(4)

Insects & Fishes

All of these

The beans are cooked faster in

pressure cooker because

(1} boiling point increase  with
INncreasing pressure

(2) boiling point decrease with
INCreasing Pressure

(31 HKxtra pressure of pressure cooker
softens the beans

(4) Internal energy 1s not lost while

coolking in pressure cooker

B.T. Q.



A (24)

116. WHAHS ERCNL] H I TE B SEEIG| 116. The primary rainbow appears afier
ﬁ‘@]’é adr %J GO the rain is due to
(1) %33[ ¥ qyEa Bk 8 (1) the reflection of light from rain
. drop |
(2) Bl %\ﬁ ARY {;ﬁj &l {HTor ‘g‘ﬁ | (2) the total internal reflection of sun
ST IOaa BT € rays by small drops
(3) g\“& 4 e 2 B | (3} the diffraction of rain drops
(4) ﬁ d Tasragd+ =iy 8 (4) the double refraction by rain
| drops
117. i el q%] <hl daT SUREldT TEd gy 117, Keeping the momentum unchanged,
SHPI =AHIM g 9 e Sl if the mass of a body is doubled, then
g A Tl its kinetic energy
(1) Sgoial 8l 8 (1) remains unchanged
(2) A 8 Sl § | (2) gets doubled
(3) el & S 8 - (3) becomes half
(4 I Tfﬁ gl Sl B (4) increases four times
118, Fd TgH i YBROT & 999 TG @ 118. While storing a horse shoe magnet,
% 9% § TG T@iey its poles are placed 1n contact with
(1) AFHS] H THI | (1) a piece of wood
(2) dr8 el (2) a plece of iron
(3) G & a (3) a gold wire
(4) @ chsl (4) a piece of glass
119, Hicgfﬁdn SEET foremq ure R ST © 119. Natural indicator litmus i1s exiracted
from |
(1) 5% 310 (2) %YT F0 | (1) Lichens  (2) Earthworm
(3) gifegl 51 (4) AT B | (3) Ant (4) Algae
120, Tl FHed W @9 W %S‘IH!’%*‘E Pl [T 120. When an ant bites calamine solution
SUIRIESIGIEG %%HI%*‘I hl [AHH D A 1s applied on the skin. The chemical
(GIW) g . formula of calamine is
(1) CaCOy (2) CaCy (1) CaCOx (2) CaCs
(8) ZnCOs (4) K,COh (3) ZnCOH (4) K,CO;

Cat.-2/22



(25 ) A
121, TET 3R ?@ 42 e fyer § 9 121. In a mixture of 42 Kg rice and wheat,
SHEy E;J\ &l HAJURT O @ 2 g g =14 ﬁ[‘ﬂ“ the ratio of rice and wheat are 5 : 2. if
4 3 A ?IE\ MY oy Rar s, at 3 Kg of wheat is added i the
qu sy § wEd SR A8 H SFUR 0 mixture, then what will be the ratio
AR of rice and wheat in new mixture ?
(1) 1:2 (2) 2:1 (1) 1:2 (2) 2:1
(3) 3:2 (4) 2:3 (3) 3:2 (4) 2:3
122. 4,000 TG H 10 I afye & 9 122. Find the simple interest of 2 years of
9 T H TIRET &N S i Rs. 4,000 at the rate of 10% per
annum
(1) 859 (2) 80599 (1) Rs.8 (2) Rs. 80
(3) 800 &I (4) 1,600 T4 (3) Rs. 800 (4) Rs. 1,600
123. 144 gﬁﬁﬁ HF S U B Hl 6 Eﬁﬁﬁ 123. Vaidehi sells 144 hens and she gets
% [aeha H % T Bl B Eﬁii FERI loss equal to selling price of 6 hens.
R RG] %’Fﬂ g7 What is her loss in percentage 7
(1) 14% (2) 8% (1) 14% (2) 8%
(3) 1% (4) 4% (3) 1% (4) 4%
124, tan (Z2x + 3} &l x & YUY FIHA Y 124. Differentiate tan (2x + 3) with respect
GiXy tox 3
(1) 2c052(2x +3) (1) 20032(2x +3)
(2) 2sec?(2x +3) (2) 2sec?(2x +3)
(3) 2xse¢:2(2x+3) (3) 2x 3502(2.1: +3) .
(4) 2sec”.2x (4) 2sec® 2x
G 1 & [T FE/SPACE FOR ROUGH WORK ‘ h
Cat.—2/22 P.T. G,



125.

1286.

127.

128.

SR C R IR M 15| M B e i
49 g 1 A G T @ Ay
HICRT 0 SMTg A | A Al A @)
A1 F BT
(1) 35aY

(3) 1239

(2) 219
(4) 14 a4

= 1000 §94 =1 9 7 1102.50 To @
SIG ¥, 99 Thgis S # aY 8

.1

(1) 5% aries
(3) 7% TIEH

(2) 4 % FIH
(4) 6% aiigep i1

(—30) x [33 +(—23)| + (=203). + (~ 29) &
e 2 TR
(1) 295

(3) =592

(2) —259°
(4) -293

70,040,000,000 & TFFHF I T [HY
g [T S HaheT 2 7

(1) 700.4 x 1014

(2) 7004 x 107

(3) 7.004 x 1010

(4) 0.7004 x 1011

( 26

1
]
|

)

128,

126.

127.

128,

The sum of Monika and her Mother's
age 15 49 years. Seven years before
the Mother's age was four times of

Monika's age. Find the age of Monika
(1} 35 Years (2) 21 Years
(3) 12 Years (4) 14 Yecars

it Rs. 1000 becomes Rs. 1102.50 in
What

mmterest rate ?

2 vyears. 1s the compound

(1) 5% annual (2) 4 % annual
(3} 7% annual (4) 6% annual

The value of (-30) x [33 +(—-23)} +
(=203) + (- 29)1s |

(1) 295 (2) —259
(3) —592 (4) 293

How 70,040,000,000 can be written n

standard form ?
(1) 700.4 x 1010
(2) 7004 x 107
(3) 7.004 x 1010
(4) 0.7004 x 1011

Cat.-2/22




(27) o - A

129. It < @R9l o« AH T W H R 129. If @ is the angle between any two
Y @ le .5 :lgx“lw Q g ' vectors a and b, then
| ‘cr,: b|=la xb lwhen € 1s equal to
1 0% 2 = & (1) 0 (2) —
2 2
(3 = a?a 4) © % (3) i‘i (4) w
130. (0.000729)-3/4 x (0.09)-3/4 H 7 B 130. The value of (0.000729)-34 x (0.09)~5/4
is |
10000 1000000 10000 1000000
1y (2) (1) (2)
81 729 | 81 729
72 81 729 81
3) —22 _ (4 (3) (4)
1000000 100000 _ 71000000 100000
181, 24+ Tx+ Tx2 + 23 1+ 2x ¥ 9 39 131. The quotient and remainder obtained
qT U AT T Q9HE AN § from dividing 2 + Tx + 7x2 + 2x3 by
1 + 2x are respectively
(1) 1,x%+3x-2 (1) 1,x2%+3x-2
(2) 0,x°%+3x+2 (2) 0,x% +3x+2
(38) x2+8x+20 (8) x° +8x+2,0
(4) x°+3x-21 (4) %% +3x-2,1
132. 3% & 40T ﬁweﬁ a AT b & = 132. If Arithmetic mean and Geometric
UG | ¥l ﬂ“l a¥ HEH &AM 10 mean of two positive numbers a and b
der 8 B, of TEANN T HL are 10 and 8 respectively, find the
numbers
(1) 2,4 (2) 4,16 (1) 2,4 C(2) 4,16
(3) 4,8 (4) 2,16 (3) 4,8 = (4) 2,16

% %14 % 9T SE/SPACE FOR ROUGH WORK

Cat.-2/22 P.T.O.



134.

135.

1386.

) 1
cot 1(——aarg@qqr:r§rﬁﬁ
JE)
(1) Egz (2) 523
5 T
3) == 4) =
® 3 4 =

dE 1296 H P T AT

(1) 24
(3) 34

(2) 36
(4) 26

9 wEd B ger 9 ¥, R 12, 16,
24@?36@%%%11?9?&&3@111‘#9
Y T & 7
(1) 151
(3) 153

(Z2) 149
(4) 137

H BT H AT SAEY S AT

PHIOT B G AT & BlAT &
(1) 90° (2) 45°
(3) 80° - (4) 100°

(28)

133.

134.

135.

136.

Find the principal value of
-1 1
cot ——
[ J3 J
27 ¥
1) — 2) —
) 3 (2) >
BT T
3) — 4) =
(3) (4) 5

Find the square root of the number
1296

(1) 24
(3) 34

(2) 36
(4) 26

What 1s the least number, divided by
12, 16, 24 and 36 givés remainder 9
in each case ?
(1) 151
(3) 153

(2) 149 *
(4) 137

Find the measurement of i:he angle

which is equal to its camplementary

angle
(1) 90° (2) 45°
(3) 80° (4) 100° - -

% 14 & U SFE/SPACE FOR ROUGH WORK

Cat.-2/22



13%.

138.

139.

140.

Frafefag & & $H-g gear Bl g

# afamar 787 el gehdl 8 7
2

(1)'5- (2) —-1.5
(3) 15% (4) 0.7
g% y2 = x @R x =1, x =4 0
x-318 § B 89 & 839 S B
14 3
== 9y 2
(1) (2) v
12 4
hatend 4) —
(3) (4) T
G2 gu sifepgl

6, 15, 50, 120, 80, 100, 15, 10, 10, 8, 15

P A1, qeas oI AR HUA: &
(1) 89,15,17 (2) 15,15, 39
(3) 389,15,15 (4) 37,15, 15

w g Sl UE Mg B EET A 8|
afd at H e 40 FH SR @ H
SEE 64 QHt &), O ofEd @l uieIg 8

(1) 25 9
(3) 178 94t

(2) 187 THI
(4) 1600 T

(29)

137,

138.

139.

149,

A

Which of the following cannot be the |
probability of an event ?

2
(1) —

3
(3) 15%

(2) ~1.5

(4) 0.7

Find the area of region bounded by
the curve y2 = x and the line x = 1,

x =4 and the x-axas

14 3
1) = @ 77
12 .4
(3) — (4) 1-2—

The mean, mode and median of the

given data :

8,15, 50, 120, 80, 100, 15, 10, 10, 8, 15°

are respectively
(1) 39,15, 17
(3) 39,15,15

(2) 15, 15, 39
(4) 37, 15, 15

The areas of square and rectangle are
equal. If side of square is 40 cm and
length of rectangle 1s 64 cm then

perimeter of rectangle is
(1) 25 cm (2) 187 cm
(3) 178 em (4) 1600 cm

I Y B 9T SE/SPACE FOR ROUGH WORK

Cat.-2/22
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141,

142.

143.

144,

145.

TS e g ®

80 H W Jwig # g wor fomn o
ThdT & 7

(1) XXC (2) LXXX

(3) XXXL (4) XXL

Th 99 6.6 §¢ § 267.3 [AAHiCT H
gl 99 W 2| g9 &) uidger ag &

(1) 4.05/ 9 (2) 40.5 B
) 41.5FH  (4) 50.4 RpY

o B Up Sifar AR G 99 F R

AT & H AT FEAA ©

1) Bougs
(2) ufify
(3) Sl
(4) gugs
87 F a9 §& Bt
(1) 658403 (2) 648503
(3) 658503 (4) 658513
54—“\{7 Eﬁr

+ib B B9 Fgd P
1 .J_— (X 1)
(1) 1+2¢2  (2) 1-2J%
(3) 22 +i (4) 242 ~i

(30)

141.

142.

143.

144.

145.

How can 80 be written in Roman

system ?
(1) XXC (2) LXXX
(3) XXXI. (4) XXL

A bus travels 267.3 Km in 6.6 hours,
Find out average distance covered by

bus per hour
(1) 4.05 Km

(3) 41.5 Km

(2) 40.5 Km
(4) 50.4 Km

Circular area bounded by a chord and
corresponding arc of a circle is called

(1} Radial Sector
(2} Circumference

(3) Chord
(4) Circular Sector

The cube of 87 will be
(1) 658403  (2) 648503
(3) 658503 (4) 658513

5++2¢

1-+2i
(1) 1+2v2

(3) 24/2 +i

in the form a + ib

Express

(2) 1-242
(4) 242 -i

F F1d F T SE/SPACE FOR ROUGH WORK

Cat.-2/22



(31) A.;

146, I 14/21 =x/3 =6/y &, @, x Ay & 146. If 14/21 = x/3 = 6/y, then values of x .
M9 U9 © and y are respectively
(1) 2,9 (2) 9,2 (1) 2,9 (2) 9,2
(3) 7,9 . 4y 2,7 (3) 7,9 (4) 2,7

147. U% T F &I 3.2 4 21 ITW 147. The diagonal of a square 1s 3.2 m. Its"
el 8 area 1s
(1) 10.24 72 (2) 2.56 Hi2 (1) 10.24m* (2) 2.56m?
(3) 3.41 "2  (4) 5.12 T2 (3) 8.41m? (4) 5.12m?

148. 99 & & UdU @] A9 1.40 HFET 2 148. The diameter of a bus wheel is 1.40 m.
250 TFRY Ui BE @ W 99 @l What is the speed of bus if it rounds
e Bl 250 per minute ?
(1) 33 FpHiART  (2) 86 fhAlAET (1) 33Km/h  (2) 86 Km/h
(3) 68 fFHI/EE  (4) 66 fhHET (3) 68 Km/h  (4) 66 Km/h

149, 3 "X ETT@ a4 Hie FEE A HIL F 149. How many square tiles of 50 cm wide
9 H THT B O 50 HHI NSl GIICH are required to cover a room's floor of
[SFe=il INIhI CISal ol STE9gdd e ¢ 3 m width and 4 m length ?
(1) 96 (2) 84 (1) 96 (2) 84
(3) 48 (4) 240 (3) 48  (4) 240

150. 40°21' Hl F$I9 719 § g8fa| 150. Convert 40°21' into radian measure

270 270 ; 270 270
(1) (2) - (1) (2) L
121 121 121 =« 121

(3) 514201H (4) 99 d Hig *157. (3) 51420;[ - (4) None of these

TF HE B U SE/SPACE FOR ROUGH WORK

Cat.-2/22 P.T.0.,.
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SIENSE R P eI SRR

sSocigl Studies/Socecial Science :

GLeTiRiEl wm oY 91 € 150 €M - IVib)
(oS svegas samfE foeme) 8 '@ @

Candidaies have to do questions 91 vo 104
iromr FPart - IV(b) (Social Studics/S o1 i

d

"1
i

2 P BClence).
ST — TV () /PART ~ IV (b)

QIS TG/ GHINS [I57/SOCIAL STUDIES/SOCIAL SCIEN{ !/

S %1-@7%@:{ (F‘Cbué) % W - T % (U 1. Who 1s responsible for muaintaining
HE T Bl B 7 the land record ?
(1) 92qr (1) Patwan
(2) @BYIeR (2) Tahsildaar
(3) ST=HER (3) Numbardaar
(4) GW}%‘E{ g o c{;ir{j o] (4) None of the above

52, E 99 H mﬂ?f@ USTET TN S 4. In which province Raiyatwari E'iiikffz.lfi_l.i.=l-'3
MY bl Tar oy ¢ system was implemented ?
(1) EFEI%& ST (1) Bombay province
(2) WA Uic (2} Bengal provinee
(3) HxTd Wid (3) Madras province
(4} Teig 9ig (4) Central province

03. WG GEH % feq ofEge d SR 83. In  which . Article of  isiisn
AR ARG WdTar & AR gy Constitution the 'Right 1o Uit o)
I - personal liberty' has been deseoihad v
(1) 34?:?@6 129 (2) ﬁijt@q 21 9 (1) Article 12 (2) Article 21
(3) STYEE 22W (4) 9T EBE 20 H (3) Article 22 (4) Article 20

G4, ARG I d AN SR REICEREEIE as 4. The duration for Election Camnpaig
o i apafy 2 decided by the Election Commissien

1 India, 1s

(1) T |wrE (1) 3 weeks
(2) = 9%ire (2) 2 weeks
(3) T Hxiie (3) 1 week
(4) UG § | B3 E (4) None of the above

Lot ~2/22




995.

 96.

97,

98.

AR T (Gt IAd 7 T

IEER B @ & SfH @l feres
ST &0 99 Sifrepay idy 2

(1) 25w 3K 10 arg
(2) 10 &M 37 25 @
(3) 30 @ X 15 A&

(4) 15 A% 3T 30 I@

gAY | UAR & 5T B FITT ol

(1) %iq FHif~g @ GIOMEr) g9a

(2) 0T & uwrahe ARl @ e

(3) q9Y g H 354

(4) I9YF Wl

RO H @l g1 & e e B 7

(1) 10 (2) 15

(3) 20 (4) 25

(1) g=E 4

(2) HrAEEl 4

(3) 8 el o

(4) Y1 H

Cat.-2/22
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95.

6.

97.

98.

The maximum limit of expenditure
allowed by the HKlection Commission
in India to contestant for the parha-
ment and legislative assembly elec-

tions should not exceed )
(1) 25 lac and 10 lac
(2) 10 lac and 25 lac
(3) 30 lac and 15 lac

(4} 15 lac and 30 lac

The reason behind the growth of

nalionalism 1n Kurope was
(1)

Inspirational influence of French

revolution

(2) Impact of Napolcon's admini-
strative reform

(3) Origin of middle class

(4) All of the above

How many Lok Sabha seats are there

in Haryvana ?

(1) 10 (2) 15 . -

(3) 20 (4) 25
National Archives is Sitﬁated in
(1) Mumbai

(2) Kolkata

(3) New Delhi

(4) Pune



99. Frt ¥ ¥ e B frw gm F ‘o

100,

101,

Fog’ it € 7

(1) PG - FATHA

(2) TETNII — BSH

(3) HITERT ~ A

(4) HY ~ Hiedst

AR HIfTT -

A. To AT 8% (1) HiEgr ¥ H
qEH

B. o Yo TESHT (1) 9l a3 &

G

C. TS 941G (iii) ITEY FHHI &
L

D. WA AEg Gv) 1928 | Hiqg
RS ERCSIE T

A B C D

(1) Qv) (11i) (1) (1)

(2) i) G (i) (iv)

(3) (i) (ii) (i) (i)

(4) i)  Gi)  Gv) ()

qG @l % @@ qiHid & Ay @

(1) 9orE qEsil

(2) GuH W
(3) WAL ISR

(4) g1 q9eY SHel

Cat.—-2/22
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99.

100.

101.

A

In which of the following pair of cities
the 'fire alters' have been found ?

(1) Kalibangan — Lothal

(2) Mohan-Jo-Daro — Harappa
(3) Dhaulavira — Lothal

(4) Amari - Kotdiji

Match the following :

A. Pt. Motilal Nehru (i) Member of
Constituent
Assembly

B. B.R. Ambedkar (i) President of

Constituent

Assembly

C. Rajendra Prasad (iii) President of

Drafting

Commuittee

D. Sarojini Naidu  (1v) Formed the

Constitution
Resolution
in 1928
A B C D
(1) (iv) (111) (1i) (1)
(2) (1) (11) (1) (1v)
(3) @) (1i) (111) (1v)
(4) (1) (111) 3

(1v) (1)

The Chairman of Public Account

Committee of Parliament is
(1) Pranab Mukherjee

(2) Sushma Swaraj

(3) Lalkrishna Advani

(4) Murli Manohar Joshi

P.T. O.



A ' (36)

102. U= ¥ MY & 9H %? | | 102. What do you mean by 'P&fgent' ?
(1) SR W TR GTE‘FHT | (1) Exclusive rights on property
- (2) farem W @A S (2) Exclusive nghts on education
(3) Rl a9 Sidspy 9 TEHAE (3) Exclusive rights on .any ideas or
AR imventions |
(4) Y1 $ AHT I¥ wHIH - HUFHR (4) Exclusive rights on right to
- information "
103. == 4 & Fa-gr AaFNEr & 9Rem 103. Which among the fn].lﬁ{s;.}ing was nof
787 o ? : | | the consequence of Industrialization ?
(1) @ . (1) Urbanization
(2) W9 WNERH o (2) Mass production
(3) SUMELIHT D (3) Colonization
(4) Y - AR | (4) Blind nationalism -
104, ST # @S g o 104. The battle of Buxar took place in
(1) 16747 (2) 17467 (1) 1674  (2) 1746
3) 1774 % (4) 17647 ' (3) 1774 (4) 1764
105. aﬁ' qiftfs T @ gEm HHaT qarC | 105. The first ever cnmpilaﬁioﬁ of Jain reli-
gl O oious text took place at -
(1) IpEdt § (2) aeerdl § (1) Amravati (2) Vallabhi
(3) 94N H (4) I5oT o . I (3) Prayag (4) Ujpain
1086. '15{ R SISYE ARt e o°qf 7 106. Who was the architect of New Delhi ?
(1) <8 IR (1) Charles Correa
(2) Usag gfegw ' (2) Edward Lutyens
(3) ® FYRET ' (3) Le Corbusier
(4) SvdFd ¥ & W@ (4) None of the above

Cat.~2/22



107. 1 4 § -1 39 ‘9IE9 8 H A
TET & 7
(1) WafEr (@) g
(4) gl

108,

109,

110,

111.

(3) FH

SIERE! (Democracy) 955 g Wy 4
forr e 2 2

A & 999 JUUIT i & 7

(1) Sfo FEUTIl TARFO
(2) FUERN e PR
(3) é*’iﬂ MY GHA
(4) ?ﬁp slo S/

e - 9 SufRw @ _
(1) ol & (2) STEAT W/
(3) WM (4) EWIIE FH

mg#‘éq 368 F1 T %“I
(1) enaEHe A

(2) Tl & g ﬁ :
(3) Hierem Hemya ﬁ 1 .J
(4) qo SIEHRT 4

Cat.-2/22

(37)

107,

108,

109,

- 110.

111,

A

Which among the following countries

is not a part of the 'Balkan region' ?
(1) Romania (2) Bulgaria

(3) Greece (4) Italy

The Word "Democracy” is taken from

which language ? |
(1) Spanish (2) French

(3) Greek (4) Dutch

Who was the ﬁrslt Vice-President of

 India ?

(1) Dr. Sarvapalli Radhakrishnan
(2) Varahagiri. Venkata Gin

(3), Dr. Zakir Hu.ssai_n |

(4) B.D. Jatti

Indo-China was the Colony of

(1) TItaly
(3) France

(2) Germany
(4) England

Micle 363 relates to

(1.) Emergency- l

(2) Election of Presideﬁt

(3) Amendment to the Constitution

(4) Fundamental Rights

- P.E O



A

112.

1138.

114,

115,

116.

(38)

e B T P R 2
(1) WHge, TogEd g GEaRyg 4

(2) HEHT, TogEH 9 SaHHA |

(3) AREH T [T G
(4) HAHEHAT, YA g TLUT 9

S it gy PR @ R 2

(1) iHE T

(2) g F 9 A

(3) ferggett & fFrem

(4) IWYE H § DI Tl

P § § Be-ar iR i e
Tl & 7

(1) BSaT & A SNYBN

(2) S99 & [o6E SHEEHR

(3) HUFECT & AER
(4) @it o=@y & PR

fret § § #I gl & THIBT § TS
78 2 ?

(1) ARF

(3) FEL

(2) 1889 T
(4) 1881 i

(1) 1885 |
(8) 1887 d

Cat.-2/22

112,

113.

114.

115.

116.

The Parliament of India comprises of

(1) lL.cksabha, Rajyasabha and

Council of Ministers

(2) Loksabha, Rajyasabha and Prime

Minister
(3) Loksabha and Rajyasabha

and

(4) Loksabha,

Rajyasabha
President |

The subject matter of Buddhist scrip-
ture 'Vinay Pitak' is

(1) Religious Sermon

(2) The life sketch of Buddha

(3} Rules for Monks

(4) Nomne of the above B

Which one of the following 1s not a
'‘Fundamental Right' ? -

(1) Right to strike

(2) Right against exploitation
(3) Right to equalily

(4) Right to freedom of religion

Who among the following is nof
related with the unification of Italy ?

(1) Mazzinl (2) Garibaldi

(3) Cavour (4) Mussolim

"Indian National Congress" was

established 1n

(1) 1885 (2) 1889
(3) 1887 (4) 1831



117,

118.

119.

120.

121.

dIY T &g e D
(1) 731 fezie 4

(2) WU Rl @

(3) st fazle

(4) F R d

Bhe. g ° g 2 O gioer wduam
Ja @l g o ?

(1) diEeIg |

(3) BIAPT & (4) UHEg ©

(2) g wB9r o

=1 5 | fhd Ul A wem 9
H FRR SgET & e R

(1) 4T&
(3) Rl

¥

g9 § [ifd o9 @ anfasse S oar ?

(2) T
(4) 4T

(2) DT

(3) e |

(4) IUYH H 9 FE

9 AT AN JR @ E Uy A
SIS B B -1
SUSTIT FEAnT 2 |

(1) Gl (2) !

(3) gul g3 (4) HETHD

Cat.-2/22

(39)

117,

118,

119.

120,

121,

SR -.-Har}fan a

Sidhu and Kanhu are related to
(1) Munda uprising

(2) Santhal uprising

(3) Bheel uprising

(4) Koya uprising

In which State the Mid Day Meal

scheme was first introduced ?

(1) Tamil Nadu (2) Andhra Pradesh
(4) Punjab

Which of the following dynasties built
grand gardens in medieval India ?

(1) Mughal (2) Tuglaqg

(3) Khilaji (4) Sayyad

Who was the invenlor of Printing

Press in Europe ?

(1) Guttenberg

(2) ngtﬂﬁ .

(3). Remiﬁgtmn

(4) None of the above

SRS Unemployment is when
people appear to be employed but

actually they are not.
(1) Open - {2) Seasonal

(3) Disguised (4) Structural

P.T. O,



192, TE W TETE & Gl diEl S

qrell TETT FHET

(1) SIYer (2) =T
(3) STeTIel (4) AT

i :5‘.',_1

123, EK F Fed dar W 9t &
(1) o HEargd &
(2) =g R
(3) T G I

(4) ©Ig TS (@

124, 9RA 1 GG [@d & & AR
e 1 PR AN B 7

(1) 2.4 (2) 3.5
(3) 3.2 (4 3.7

195, 39 F G99 991 diOGE da o

(1) Toe d% Sifw sivean

(2) Ve dF A% SIS
(3) 3o dio &Mgo o 3Mgo FF

(4) e,ﬂéc} glo dlo BTIQ(‘.:::

R LI DR 7 I o B s | A e
a8 7

(1) Jsidr (2) i TS

(3) YOI (4) A

Cat.—2/22 |

(40)

122.

123.

124.

125.

126.

Lines that are drawn on the Globe

parallel to the equator are called

(1) Tropics (2) Longttudes

(3) Latitudes (4) Meridians

The largeét rail-route of the world is
(1) Trans Siberian Railway

(2) Trans Arabian Railway

(3) Trans European Railway

(4) Trans Asian Railway

India constitutes ................ % in the
total Geographical Area of the world.

(1) 2.4 (2) 3.5
(3) 3.2 (4) 3.7

' The largest Commercial Bank of the

country is

(1) Reserve Bank of India

(2) State Bank of India

(3) I.C.L C. 1. Bank

(4) 1.D.B. L.

Which State in India has the largest

coastline ?

(1) Orissa (2) Andhra Pradesh

(3) Guarat (4) Kerala



127. ‘&9 fem = . a¥ %

128,

129,

130,

131,

Y Y8 & [ TJ=a B Wl B
J&F H{A Hhl Rem o ue wEw ¥

(1) & ¢ TEs
(2) 3& | &g
(3) &9 | IRE
(4) IX ¥ T%8

BITd G e fhg wh & gl ¥ 7

(1) afed gdd
(2) "Ly wed
(3) SOrTHEl qea

(4) dqf‘\—iﬁ g9 Ebzf?qF EE|

gedl ot gorT faem B
(1) 9o 9§ gikem
(2) uit=m | g4
(3) IR ® afayoy
(4) FET F T

ST d | BIE-9T STaie e 787 2

(1) g
(3) ge
-
e 7 7

(1) ST e
(2) QX S
(3) g9 Sl
(4) =Y Sl

(2) I

(4) FeHic

Cat.—-2/22
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127,

128,

129,

130.

131,

(1) Mercury

A
Sarva Siksha Abhiyan' is a step

towards providing elementary

education to all children in the age
group of

(1) Six to Fourteen
(2) Eight to Ten
(3) Ten to Twelve
(4) Four to Fifteen

Himalaya and Alps are
(1) Fold Mountain

(2) Block Mountain
(3) Volcanic Mountain

(4) None of the above
The earth rotates
(1) East to West

(2)
(3) North to South

West to East

(4) South to North

Which among the following is no# an
inner planets ? |

(2) Venus

Earth

(3) (4) Jupiter

Which among the following is a
conventional source of energy ?

(1) Hydro energy

(2) Solar energy

(3) Wind energy

(4) Tidal energy

P.T. O.



132. TR UE SEE Ryd 2

(1) TN

(2) oA o

(3) HENTE H
(4) 99 o

-
ST B

(1) 9fg==i ene
(2) FECT AR
(3) HeFadl A
(4) I8 g A

134. T @
(1) =g T A A o T
(2) ofiT wg § FBA aRl ™ 99

(3) ™ %z_gl)ﬁ qe grelt Mg T4

(4) T *Hg H qo Al TH U

TR W HEE aF BA-W & 7
(1) Rord ¥ offs gfea

(2) VT d% 3 08

(3) T FEHI b

(4) U 9% oG 3o

133.

136, 128 deadig e i ofafy ®

(1) 2009 —2014 (2) 2012 - 2017,

(3) 2011 —-2016 (4) 2010 -2015

Cat.-2/22

IR G B 7 s | B
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(42 )

132.

133.

134.

135.

136.

‘Gir National Park’ is located in
(1) Rajasthan

(2) Gujafat

(3) Maharashtra

(4) Assam

In which part of India is ‘“Jhoom

cultivation’ practiced ?
(1) Westei'n'Ghats
(2) Southern India
(3) Middle India

(4) North Eastern India

'‘Chinook’ 1s

(1) Cold wind blowing in winter
(2) Warm wind blowing in winmr
(3) Cold wind blowing in summer

(4) Warm wind blowing in summer

Which is the Central Bank of India ?
(1) Reserve Bank of India

(2) State Bank of India

(8) Central CD;DPEI‘EltﬁTE Bank

(4) Central Bank of India

The period of 12th Five Year Plan 1s

(1) 2009 — 2014 (2) 2012 — 2017

(3) 2011 — 2016 (4) 2010 — 2015



137.

138,

139.

140.

141.

T %I Y | iged & ien @
(1) 3214 [t
(2) 3516 oy
(3) 5200 fFHT
(4) 2933 faf

T | A 2

(1) wersi # Rud o & YeH
(2) gd S

(3) Y R

(4) 39YHK H 9 Hi3 L

TR 2011 % AR 9RT
SRR

(1) 933 (2) 920

(3) 861 {4) - 940

Bt o | #- wda e ot @
AU § T B & 7

(1) UIsi (2) BaEg
(3) JU (4) TR

Tl H gy F PR e

gY Tl

UE 9G¥ Il Ear o

(1) Y T /= g

(2) T$ 916 d@

(8) IAHaH B HE TF

(4) T/ 89 T 99 99 Maifaa i
Q&Y U8V HAdl 2

Cat.—2/22
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137.

138.

139.

140.

141.

A
The IKast - West bréadth of India is
(1) 3214 Km
(2) 3516 Km
(3) 5200 Km

(4) 2933 Km

‘Bugyal’ means

(1) Grass land situated in mountains
(2) Anid forest

(3} Desért region

(4) None of the above

What is
according to the census 2011 7

the sex ratio in India

(1) 933

(3) 861

(2) 920
(4) 940

Which among the following mountain

range-Separates Asia from Europe ?

(1) Andes (2) Himalaya

(3) Eural (4) Pyrenees

The Vice - President who assumes the
office of the President in case of

vacancy due to death holds it for
(1) The unexpired term

(2) A year

(3} Six months at most

{'4} ‘Till the date when newly elected

President assumes office

P.T. O.



142,

143,

144.

145.

SNEUNE
STHHES

2011 % SIAR
H @y ghe’ B

(1) 21.02%

(2) 17.64%
(3 19.5%

(4) 19.6%

g § AT ©
(1) U8 &
(2) JUEE e

(3) B BT

™

(4) 3T

b

g &l

e & A AF-E e g

78T & 7

(1) HATFHH — AHATS

(2) TYY — oI
(3) T — JAT U_T

(4) T — Pl

g9, [MrER WId &3 WYy 999 qdl

S | B
(1) IFAR

(2) =4

(3) HHR

(4) UIRET

Cat.-2/22
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142.

143,

144.

145.

The 'Decadal growth' in Indian
population

2011 is

according fo census

(1) 21.02%
(2) 17.64%
(3) 19.5%

(4) 19.6%

The Sewiée Tax i India 1s
(1) Direct Tax.

(2) Indirect Tax
(3) Increasing Tax

(4) Decré asing T'ax

Which option is nof correct in the

following ?

(1) Kalapakkam - Tamil Nadu
(2) Tarapur -IRajasthan

(3) Narora — Uttar Pradesh

(4) Kaiga - Karnataka

The

Internatinnal_border with India is

country, having  longest

(1) Bangladesh
(2) China
(3) Myanmar

(4) Pakistan



146. MERET FH #or § @ R

147,

148,

149.

‘(iJ T

(1) T

HEY ST B 7

(3) WSTIX % S8d¥ S96Y

(4) IR qff

Mg § & qeg df &1 fa-

27

(2) HEg

(3) (4) T

© e

GrEEl qed 997 U8 o
(2) I
(3) geit (4) A

UNDP a1 Yl "me Rem Rod
el B R ST WY e e R 7

(1) TR = M w

(2) IHFH R TT

(3) 3T T uiafky om

(4) Iqag a4t

Cat.-2/22

(45)

146.

147.

148.

149,

A

Kerala has low infant mortality rate
because of

(1) better educational tacilities

(2) adequate provision of basic

health
(3) better employment opportunities

(4) All of the above.

Which is the largest river among the
following ?

(1) Ganges (2) -Brahmaputra

(3} Yamuna (4) Chambal

The fifth largest planet is

(1) Mars (2) Venus
(3) Earth (4) Saturn
Hwuman Development Report

published by UNDP Compares
countries on the basis of

(1) Education level of the citizen
(2) Their health status
(3) Country's per capita income

(4) All of the above

P.T.O.



A (46)

150. cﬁg&’ F aGd © 150. ‘Equinox’ means
(1) H{“T ‘gﬂf?l g% FHE {[&7-3T (1) Equal day and night on the entire
| Earth
(2) T MATE geg vlel &9 | (2) Shortest day in the Northern
' hemisphere
(3) efyel Mars ‘?( FEg Bie &F _ (3) Shortest day in the Southern
hemisphere
(4) SUgFd H 9 @3 e (4) None of the above

Cat.—-2/22
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